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Sample Paper

Subject: Economics
Class 12th 

Duration: 3 hours                                 

Marks: 100

Note:


1. Answers the questions carrying 1 mark should be in one word to one sentence.

2. Answer to questions carrying 3 marks should be in 60 words.

3. Answer to questions carrying 4 marks should be in 70 words.

4. Answer to questions carrying 6 marks should be in 100 words.

5. Attempt all parts of a question together.

6. All the calculations should be done on right hand side of the page.

----------------------------------------------------------------------------------------------------------------------------------------------
SECTION A

1) Which out of the following factors does not affect the demand for a given good:

i. Taste and preferences

ii. Price of other goods

iii. State of technology

iv. Income of the consumers

2) When a 5 % falls in the price of a good leads to a 20% increase in its demand, its elasticity of demand will be:

i. 5              ii.   4            iii.   3         iv.   2

3) Which of the following diagram shows AR curve under the monopolistic competition?
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4) What is non-price competition?
5) Which of the budgetary deficit shows how the government is living beyond its means?
i. Primary deficit
ii. Revenue deficit
iii. Fiscal deficit
iv. None of these

6) Equilibrium price may be determined through: 
i. Primary deficit
ii. Revenue deficit
iii. Fiscal deficit
iv. None of these

7) Explain the concept of production function.

8) What is deflationary gap?

9) What is Aggregate Demand?

10) Explain Saving function.
SECTION B

1) What will be the impact of ‘Make in India’, an innovative decision of the Prime Minister, on the PPC of the Indian Economy and why?
OR

What will likely be the impact of new social security schemes like Pradhan MantriSurakshaBimaYojna on the PPC and why?

2) Giving reason, comment on the shape of PPC base on the following table.

	Good X
	0
	1
	2
	3
	4
	5

	Good Y
	5
	4
	3
	2
	1
	0


3) ‘A straight line supply curve is drawn indicating a linear supply function’. True or False? Give reason and explain with the help of a diagram.
4) Out of APC and MPC whose value can be greater than one and why? Explain.
5) In an economy, a 20% increase in investment results in 100 % increase in income. Calculate MPC and MPS.

OR

In an economy, equilibrium level of income is Rs. 12,000 cr. The ratio of MPC and MPS is 3 : 1. Calculate the additional investment needed to reach a new equilibrium level of Rs. 20,000 cr.

6) From the following data about government budget, find out:

a) Revenue deficit.    b)   Fiscal deficit      c)  Primary deficit

	Items
	Rs.(in crores)

	Tax Revenue
	47

	Capital Receipts
	34

	Non-tax Revenue
	10

	Borrowings
	32

	Revenue Expenditure
	80

	Interest Payments
	20


SECTION C
1) A consumer spends Rs 200 on a good priced at Rs. 2 per unit. When its price is doubled’ the consumer continues to spend Rs. 200. Calculate the price elasticity of demand by Percentage Method.

2) How does the change in the price of a complementary good affect the demand for the given good? Explain with the help of an example and a diagram.

OR

Distinguish between an inferior good and a normal good. Is a good which is inferior for one consumer also inferior for  all consumers? Explain.

3) There are no barriers in the way of firms leaving or joining an industry in a perfectly competitive market.  Explain the significance of this feature. 
4) Calculate MC and AVC at each level of output.

	Output
	0
	1
	2
	3
	4

	TC
	100
	160
	212
	280
	356


5) Production of gifts packs one week before Diwali falls in which period?

6) Explain the effect of rise in inputs prices on supply of a commodity. Use diagram.

SECTION D

1) Aconsumer consumes two goods X andY, each priced at Re. 1 per unit. If the consumer chooses a combination of the two goods with MRS equal to 2, is the consumer in equilibrium? Explain what a rational consumer will do in this situation.

OR

A consumer consumes only two goods X and Y whose prices are Rs. 2 and Re. 1 per unit respectively. If the consumer chooses a combination of the two goods with MU of X being 4 and that of Y also being 4, is the consumer is equilibrium? Give reasons. Explain what a rational consumer will do in this situation.

2) Explain the effects of the following changes in TR on MR. give relevant schedules.

i. TR increases at a decreasing rate.

ii. TR increases at a constant rate.

3) Giving reasons, state whether the following statements are true/false.

i. The difference between ATC and AVC decreases with a decrease in the level of output.

ii. Is Returns to Factor is a long period phenomenon?

4) Market for good X, say Maruti’s Alto, is in equilibrium. Suppose price of good Y, say Hyundai’s Eon Falls. Explain its effect on equilibrium price and quantity of good X, i.eMaruti’s Alto.

5) Explain the role of government’s budget in fighting inflationary and deflationary tendencies in the economy.

6) Explain the implications of the following features of perfect competition.

i. Homogeneous products

ii. Free entry or exits of firms

7)  Explain consumption function, with the help of a schedule and diagram.

8) C=50 + 0.5Y is the consumption function of an economy where C is consumption expenditure and Y is national income and investment expenditure is 2000 in an economy. Calculate 

i.  Equilibrium level of National Income.

ii. Consumption expenditure at equilibrium level of national income.
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